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Rational Numbers
Exercise 4A

Q1

Answer:

The numbers that are in the form of ‘—;_ where p and g are integers and g #0, are called rational
numbers.

For example:

Five positive rational numbers:

Yes, there is a rational number that is neither positive nor negative, i.e. zero (0).
Qs
Answer :

() &

Numerator = 8
Denominator =19

. B

(i) =g

Numerator =5
Denominator = -8

(iii) =13

Numerator = -13
Denominator =15

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com
RS Aggarwal Class 7 Mathematics Solutions

(iv)=%

Numerator = -8
Denominator = =11

(v)9

i.e 2

Numerator = 9
Denominator = 1

Q4

Answer :

()5

The rational number will be %

Numerator = 5
Denominator = 1

(i) -3
The rational number will be =2

1
Numerator =-3
Denominator = 1

(iii)1
The rational number will be %

Numerator = 1
Denominator = 1

(iv)0
The rational number will be %

Numerator =0
Denominator = 1

(v) -23
The rational number will be =22

1
Numerator = -23
Denominator = 1

Q5

Answer:

Positive rational numbers:
——
(i) -
S 3T
(lV) =
(vi) 8 because 8 can be written as % , where 10

0 is neither positive nor negative.

Q6

Answer:

Negative rational numbers:
(i) =

()

(Dln

(v) -6
(vi) %

Q7
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Answer:

(i) Following are the four rational numbers that are equivalent to %.
6x2 6x3  6x4 6x5
T1x2 » Tix3 > Tixd 204 13,3

. 12 18 24 30
l.e SRR aﬂdﬁ

(i) Following are the four rational numbers that are equivalent to %3.
—3x2 _3x3 _3x4 3x5
Bx2 7 Bx3 ' 8x4 and 55

i i} £ i2 i5
L& 16" 247 32 and 40

{iii) Following are the four rational numbers that are equivalent to %
Tx2 Tx3 Txd d Txb
15x2 7 15x3? 15x4 15x5

(iv) Following are the four rational numbers that are equivalent to 8, i.e.

8

T
Bx2  Bx3  Bxd Bx5
1x27 1x3 7 1x4 1x5
R 16 24 32 40
Le. =2 30 1 d 5

(v) Following are the four rational numbers that are equivalent to -1, i.e. %

1x2 1x3 1x4 1x5
1x2 7 1x3? 1xd4 and

1x5

. 2 3 4 5
1.e. E ’E ) Z a:l:ld E
{vi) Following are the four rational numbers that are equivalent to -1, i.e. =1

-
—1x2 —1x3 —1x4 —1x5
T2 0 Tx3 0 1xa and

1x5
. 2 3 _4 _5
Le. 5,35, 7 and 3
Qs
Answer:

. 12><(—1] _—12
O Coey ~ 7

L 1x(-1) -1
Doy 2
(i) =5 = Sx(-1) _ s

. 11
W) ) =%
Q9

Answer:

(i) Numerator of 2 is 5.

5 should be multiplied by 3 to get 15.
Multiplying both the numerator and the denominator by 3:

5x3 _ 156

8x3 ~ 24

(i) Numerator of 2 is5.

5 should be multiplied by -2 to get —10.
Multiplying both the numerator and the denominator by -2:

(2 _ _10
8x(—2) -16
5 _ 10
8~ —16
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Q10

Answer:

(i) Denominator of £ is 7.
7 should be multiplied by 3 to get 21.
Multiplying both the numerator and the denominator by 3:

4)-(3_ 12
T=x3~ 21
4x3_ 4
x3 T
(i)

Denominator of 2 is 7.
7 should be multiplied by -5 to get =35.
Multiplying both the numerator and the denominator by —5:

4x(-5) 20
Tx<(-5) 38

Q11

Answer:
(i) Numerator of % is-12.

-12 should be multiplied by 4 to get 48.
Multiplying both the numerator and the denominator by 4:

12x4 _ 48
i3x4 52
12 _ 48
3 - 52

(11) Numerator of 1—132 is—12.

-12 should be multiplied by -5 to get 60

Multiplying its numerator and denominator by -5:
—-12x(-5) _ 60
13x(-5) = 65

12 _ 60
12 — 65

Q12

Answer:

(1) Denominator of" 1—18 is 11.
Clearly, 11x2=22

Multiplying both the numerator and the denominator by 2:

—8x2 _ —16
1ixz 22

& _ 16
1~ =

(i) Denominator ofl—ls is 11
Clearly, 11x5=35
Multiplying both the numerator and the denominator by 5:

8x5 _ —40
Tix5 _ 55
5 _ 40
n- 5

Q13
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Answer:

(1) Numerator of 1—45 is 14.
Clearly. 14x4=56

Multiplying both the numerator and the denommator by 4:
14x4 _ 56
Sx4 20

14_ 56
20
(i) =70
MNumerator of 1—'; is 14.
Clearly. 14x(=5)=—70

Multiplying both the numerator and the denommator by -3:

(1) Denominator of 1—:’;3 is —8.
Clearly. (—8)x5= —40
Multiplying both the numerator and the denominator by 5:

13x5 65
Bx5 40
R
E 40

(11) Denominator of 1—?3 is —8.
Clearly, (—8)=(—4)=32
Multiplying both the numerator and the denominator by -4:

135 (—4) _ 52
gx(-4) 32

1B_-w

I

Q15

Answer:

(1) Numerator of ;—:’f is -36.

Clearly, (—36) = 4= (-9)

Dividing both the numerator and the denominator by 4:

36:4 _ 9
24:4 T 6

(11) Numerator of % is -36.
Clearly. (—36) = (—6)=6
Dividing both the numerator and the denominator by -6:

36 (—6) 6

24:(-6) 4

36

4

Q1lé

A
1

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com
RS Aggarwal Class 7 Mathematics Solutions

Answer:

(1) Denominator of % is —147.
A =147 =(21)=7
Dividing both the numerator and the denominator by -21:

sa:(-21) 4

147:(-21) 7

-
a7 T 7

(11)Denominator of % is —147.
—147-3=-49

Dividing both the numerator and the denominator by 3:

B4:3 _ 28
147:3 = —49

84 28

147 T 40

Q17

Answer :

. 35
5
HCF of35and 49 1s 7.

35)49 (1
35
14352
28
7)14(2
=
X

Dividing the numerator and the denominator by 7:

35:7 _ 5

497 T 7

So, % is equal to % in the standard form.
(lljﬁ

Denominator is -36, which 1s negative.
Multiplying both the numerator and the denominator by -1:

8x(-1) g

36 (1) 36
8136 (4
32

4i8i2

8
X

H.CF of 8 and 36 1s 4.

Dividing its numerator and denominator by 4:

8:4
364

el

So, % is equal to TZ in the standard form.
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(i) =2

27)45(1

HCF. of 27 and 45 15 9.

Dividing its numerator and denominator by 9:
2729 _ -3
45:0 &

Hence, % is equal to =2 in the standard form.

5
: 14
() -2

The denominator is negative.
Multiplying its numerator and denominator by —1:
Mx(-1) 14

a0x(-1) B

14149 (3

HC.F.of14and 491is 7.

Dividing both the numerator and the denominator by 7.
14:7 _ 2

40:7 T 7

Hence, % is equal to % in the standard form.

()2

The denominator is negative.
Multiplying its denominator and denominator by —1:
91x(-1) g1

T8x (1) 78

78191 (1
78

13 i'}’Siﬁ

78
%

H.C.F. of 91 and 78 is 13.

Dividing both the numerator and the denominator by 13:
91313 _ -7

T8:13  ©

Hence, 0—?18 is equal to ?7 in the standard form.

H.C.F. of 68 and 119 is 17.

Dividing both the numerator and the denominator by 17
68:17 _ 4

19317 7

Hence, Tﬁg is equal to 74 in the standard form.
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(m’i) =

87)116(1

H.C.F. of 87 and 116 is 29.
Dividing both the numerator and the denominator by 29:

87:20 _ 3

116:29 1
87

Hence

» 15 1s equal to Tain the standard form.
1

(vm) =T

The denominator is negative.

Multiplying both the numerator and denominator by -1:

2003 (1) _ 209
161x (1) 161

161)299(1
161

138i161i1

138

23 ilSSEﬁ

138
X

H.C.F. of 299 and 161 is 23.

Dividing both the numerator and the denominator by 23:
200523 _ 13

161:23 7
20 . 13 .
Hence, —; is equal to —-in the standard form.
Q18
Answer:
0]
9x4 _ _36
Sxd 20
0x(-3) o7
sx(-3) 15
9x5 45
5x5 25
-9 _ 36 _ 21 _ 45
5 T 20 15 %5
(i)
6x3 _ 18
1Ix3 33
6x4 24
Tix4 a1
6 _ 18 _ 24
11— 38 — 4
Q19
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Answer :

L, |
W=

We have:
(~13)x(=21) = 273

And 7x39=273

(—13) x (—21) =7 x 39

13 _ 30
O e =g

13 39 J .
Hence, — and 37 are equivalent rational numbers.

. 3 ﬁ
)=+ 5

We have:
3x16=48
And (—8) =(—6) =48

& 3x16 =(—8)x(-6)
3 i)

5 k0
Sy 36
(i, =5

We have:
Ox(—16)=—144
And 4=(-36)=—144

9x(~16) = 4x(-36)

9 36

PR T
Therefore. they are equivalent rational numbers.

a7 28
5

We have:

T=60 =420
And 15%(-28)=—420

~ Tx60 £15%(—28)

Therefore, the rational numbers are not equivalent.
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M5 T

We have:
3 =4=12
And 12x(—1)=-12
12+£-12

Therefore, the rational numbers are not equivalent.
o2 3

i) 2,3

We have:

2x2=4

@5 -3
== (-3 =76

g :{?xﬁ)
(-3)

== x=—14

(i) £ = =
= 5y=3x(-25)

== 13x=6%(—63)

. 6 65)
13

= x=6x(-5)
= x=-30

M2 =-
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Answer:

o8 10

8x15 =120
And ( ~10)x(—12)=120

8515 =(~10) x(~12)

B in

12~ 15

Therefore, the rational numbers are equal.
-3 T
W 5

(=3)x(=21) =63
And 7= 9=63

o (=3)%(-21) =7=9

=
21

=3
= =
Therefore, the rational numbers are equal.

(111) —iar

(-8) x 21 =168
And 15 x(-14)=-210

(-8)x21£15x 14

Therefore, the rational numbers are not equal.

Q22

Answer :

(1) False

For example. -1 is smaller than zero and 1s a rational number.

(11)True

All mtegers can be written with the denominator 1.

(111) False

Though 0 is an integer. when the denominator 1s 0, it 1s not a rational number.
For example, —; is not a rational number.

(1v)True

(v) False

-1 is a rational number but not a fraction.
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Rational Numbers
Exercise 4B

Q2

Answer:

(‘1) % This is because 0 can be written as % and % < %

Q3
Answer :
=y 5 3
(‘)ﬁv—a
(-3)x(-1) 3
(ox(1) 8 3198
L.C.M. of 0 and 8 is 72. 338
5x8 _ 40 2|18
9x8 T2 ——
ba_m 2114
Bx0 ~ T2 2112
27 < 40 el el
. 1.1
=<3
So, % is greater.
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(i)
4 -8
3177
We will convert each nepative denominator into positive.
4x—1 _ -4
31 3

L.C.M. of 3 and 7 is 21.

x(7) _ 2
@x@ 2
(8)xs _ o

<3 21
(—24) > (—28)
78 » 4

(-3)

So, TS is preater.

(i)
£,-3

L.C.M. of5and 1is5.

12x1 _ —12
5x1 &
3x5 _ 15
ix5 &
—12 > -15
i2

5 > 3
12

o= is preater.

(iv)

9 R

L.C.M. of 9 and 8 is 72.

Tx8 56
9x8B ~— T2
5x9 45 1
8x0 72 i
— 56 < —45 L,

T 5
9<3

14 -7
OETS
We will convert each negative denominator into positive.

dx—1 4

o]0 [ro] e | o

5x—1 "~ &

L.C.M. of 5 and 8 is 40.

4x8 _ 32

5x8 a0
Tx5 _ 35

Bx5 40 L1
—32>=-35

4 T
5>8

A
(v) 1312

We will convert each nepgative denominator into positive.

SIS

9x 1 _ 9
1Bx 1 13
Tx-1 _ T
Bx 1 12

L.C.M. of 13 and 12 is 156.

0x12 108
13x(-12) 156
Tx13 _ -0
(—12) 13 156
—108 < —901
9 7
EIT

Q4
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Answer:

s 3 L]
()23

L.C.M. of 7and 13 is 91.

3x13 _ -39
™13 ~ 91
6x7 _ 42
13x7 ~ 91
b e
91 7 0
o 5 35
(11) BT 13 (13,91
L.C.M. of 13 and 91 is 91. Ell
sx(-7) _ _s5 T
Bx(-7) 91 :
(ﬂi) -2> 2
L.C.Mof1and5is5.
2x6 _ 10
1%, = = §
13x1 _ 13
5x1 5
10 13
B
B 2 5
(w) i T
L.C.M. of 8 and 3 is 24. 2 (a3
2xB _ 16 =
IxB 24 2123
5x3 15
Ex3 24 L
—16 _ 1§ L.1
24 24
3
(o<t
L.C.M. of 1 and 5 is 5.
i _ 0
ix5 = &
3x1_ 3
Bx1 — &
[} 3
§5E
- 8 o
(“) 77w 3]9,10
L.C.M. of 9 and 10 45 90. EYERT
8x10 80 —
Tx10 90 5]L10
9x9 81
10x9 ~ 90 2412
—0 . 81 11
90 7 90
Q5
Answer:

jy2.7 8 1
5*10% 15730

L.C.M. of 5, 10, 15 and 30 is 30

5]5.10,15,30

2[1236
31133

G

2x6 12

B=6 30

Tx3 _ 21
10x3 — 30
Bx2 _ 16
152 30
13x1 _ 13

30x1 30

i B R B T
Required order: ¢ < 35 < £ < 5
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A 7.9

(”)T’ BrI6 A
First, we need to convert each negative denominator into positive.
-3 5x-1 -7 _9x-1
4 12k 17716 ' 24x 1
e e e e
171271624

2]402,16.24

2]2.6.8.12

“2]1346

21323

31303

B ERRE

L.C.M. of 4, 12, 16 and 24 is 48.

3Ixi2 36
4x12 ~ 48
5xd 20
12x4 48
Tx3 _ 21
16x3 ~ 48

9x2 18
24x2 48

Required order: 73 < l—g <2«

=2
T
A 1 17
(m)ﬁ‘ 157720 * 30
First, we need to convert the negative denominators to make them positive.
Tx-1 11 17x-1

T 1x-17 20 ' 30x-1
7 11 17

715?720 30

] =
'=|w °|w

10,15,20,30
2.3.4,6

1.3.2.3
1,3.1,3

1LL11

5
2]
3]
3]

L.C.M of 10,15,20,30 = 60

3x6 _ 18
10x6 60
Tx4 _ 28
15x4 60
11x3 _ 33
20x3 60
172 _ -3
30%2 60
Therefore, =3 « =3 ﬁ_gs < 218

60 (ill]
= 17 11 T 3
T I A T T

Y2 3 5 7
(“’) R EET)
First, we need to convert the negative denominators to positive ones.

3 S5x-1 T
T4 Gx-17 12
3 5 7
13 17

it}

6 712

walra calen

23,4612

2[1236
IREE

IRERRE

L.C.Mof3,4,6,12 =12

x4 8
3x4 — 12
3x3 _ 9
43 12
5x2  —10
ox2 12
Tx1 7
12x1 12

Therefore, the correct order is Ts < 1—27 <

walra
M
| g

Q6
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Answer :

i) =2 7 119
510 15 ' 30
First, we need to convert each nepative denominator into positive.

2 Tx-1 11 19x-1
5 Y T0x1° 15 ' —30x 1

2 7 _u 19
5 710 15 ' 30
515,10,15.30
2[1.2,36
31133
BRIRRE

L.C.M. of 5, 10, 15 and 30 is 30.

ax6 _ 12
tx6 30 !
Tx3 _ 21
10x3 30 ?
11x2 _ 22
5x2 a0’
19x1 _ 19
30x1 30 !
.2 19 . 7 . 11
Correct order: e B e

(1) -2, 5.4
First, we need to convert each negative denominator into positive.

_9 —13 8x-1 1
76 P 3x-1°3

3]1,633
2[12.11
1L1L1

L.C.M. of 6, 3and 3 is 6.

ax6 _ 12

ix6 6 !

i3l _ 13

Bx1 6 !

8x2 _ _16

%2 6 7

1x2 _ 2
32 6?
Correct order %‘; —2>Tl3 >Ts

7

First, we need to convert each nepative denominator into positive.

4 Sx—1 T 2x—1
O 'TIZx 1718 ? 3% 1
4 -5 -7 _2
ERETEETRES
19,12,18,3
13,4,6,1

2(1.4.2.1

2| L2.1.1

1111

L.C.M. of 0, 12, 18 and 3 is 36.

4x4 _ 16
x4 36 °?
5x3 _ 15
12%x3 36 °
Tx2 _ —14
1Bx2 36 '
2x12 _ 24
3x12 36

LT 5. 4 2
Correct order: T
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. 17

(“r) 3015710 '5
First, we need to convert each nepative denominator into positive.
171 1x-1 -7 3

30x—1°_16x- 17105

17 11 -7 3
30 °°15 *10°'5

55,10.15,30
2[1236
31,133
IRERER
L.C.M. of 30, 15, 10 and 5 is 30.

1Tx1 17

30x1 30’

1Ux2 _ 22

5x2 30 °

Tx3 _ 21

10x3 30 °

3x6 _ 18

5x6 30

B N S

Correct order: TP T W &
Q8
Answer :

L.C.M. of 2 and 3 is 6.

_ —3x6 _ 18
3= ix6 6

_ —9x6 _ 12
2= ix6 6

Therefore ,% ,Tlﬁ,%,% and % are the five rational number between —3

and — 2.
Q9.
Answer :
_ —1xb _ 1x5

1= 1x5 7 1= 1x5

5 5
Tandg

. 3

Hence, the five rational numbers between — 1 and 1 are 74,?,?2,71 and %
Q10
Answer :

3 1

= and 5

L.C.M. of 5 and 2 is 10.

Ix2 _ G4 _ _24x2 _ 48

5x2 ~ 10x4  40x2 B8O ?

ix5 _ —5x4 _ —20x2 _ 40

x5 10x4  40x2 8D ’

: 3 1 45 _44 43 _a2 41
v Wi == = o g —— —

Hence, the five rational numbers between = and 5 are —= , ==, ==, 4~ ]
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Rational Numbers
Exercise 4C

—2 1 —2+1 -1
5 +5_ 5 5
(iii)

3 1_ -3
SEXIT

3 1 _ 341 -2

T Ts="% =3

(iv)

7 1_ -7
XTI T

5 7 57 5.7 12
ato=—w @ — 7
v)

11 1_ 1
BT B

9,41 9411 2
TtE=T — 5

(vi)

2 5_ 25 _ _7
St =% =3

(i}

(-17) | (1) 4711 98
-tV ===
(viii)

5 1 5
=X*X3IT 7T

3 5) 35 _ _8
Tt = =7
Q2

Answer :

- ¥ 3

OF+3

The denominators of the given rational numbers are 5 and 4.
L.C.M. of 5 and 4 is 20.

=2_(2a_ s
5 5x4 20
3 __ 3x5 _ 15
4 4x5 0
(-8) 15 8415 7
NOW—M +E_ 0 20

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com
RS Aggarwal Class 7 Mathematics Solutions

(= +3
The denominators of the given rational numbers are 9 and 3.

393
EAER!
L1

L.CM.of9and 3is 9.

The denominators of the given rational numbers are 1 and 2.
L.C.M. of 1 and 2 is 2.
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[¥]

11
L.C.M.of 27 and 18 is 54.

—7 _ (0x2 _ 14
27 27x2 54
5 _ 5x3 _ 15

18 18x3 54

(-14) | 15  _14415
Now, = +5 = —

3.1

L,

The denominators of the given rational numbers are 36 and 12.
L.C.M. of 36 and 12 is 36.

3

2]
26,2

3]

-5 __ (—5))(1 _ -5
36 — 36x1 _ 36
7 _ —1x3 _ 21
2 = 1x3 — 36
(-5) | (-21) _5_o
Now, ¢ + -5~ = —%

_3—%6 = _1—183 (26 and 36 are divided by 2 .)

(vi)
5+ ()

We need a positive denominator.
1 -1 _ -1 4 -1 _ 4

S X =g and X g=5

The denominators of the given rational numbers are 9 and 27
309,27

239
3

1.3

1.1
L.C.M. of 9 and 27 is 27
1 (-1)x3  _3

9 ~ " ox3 27
—4 _ —4x1 _ -4
27— 27x1 27

(-3) | (-4 3
3y ) 34

27 T 27

_ =T
27
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(vii)

9 1
5+ ()

The denominators of the given numbers are 24 and 18

324,18
286
2]43
2|23
JE]EE)
1.1
L.C.M. of 24 and 18 is 72.
S s
Tt T x3 12
1 —1x4 _ -4
18 T 18xd 72
27 4
NOW, ?_F(E)
274 (—4)
- 72
_ 274
T
_ -3
- T

(m%+kﬁ

We need a positive denominator.

o7 -1 _ —21

XTI T

The denominators of the given rational numbers are 4 and 8.

2]48
2[24
2]

1.2

L1
L.C.M. of 4 and 8 is 8.

—27 _ _2Tx2 54
1~ axz 8
(-15)  (18)x1 g5
8 ~  8xI B
54 , (-18)

NOW,T‘I‘ 8

_ 5415

~ T s

—

~ 78

Q3

Answer :

(i)

3,7 1

5 tsts

L.C.M. of the given rational number is 5.

(-3 1)

7
= tst5
347-1
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11 3 1
(].Ll) = t=%tz

We need a positive denominator.

11 1 -1 3 1_ -3
mX G- padgx =5
L.C.M. of the denominators 12, § and 4 is 24.
11x2 _ 22 i 1284
12x2 24 2642
dx3 _ 9 213.2,1
8x3 24 e
313.1,1
1x6 _ 6 ]
e il 1,11
(-22) (9 , s
Now, 5=+ 5 t 5
22 016
= 24
3146
T2
——]
oM
. 16 5, 7
(w) - t=t%
L.C.M. of the denominators 9, 12 and 18 is 36.
16x4 _ 64
et 80 39,1218
5%3 _ _15 ]
i2x3 36 31346
7x2 14 R e
i~ % 2[142
(-o4) | (-18) | 14 211,21
Now, "3 Tt 3 T3 ——1 K
— 15414 e
- 36
70414
36
65
T

(U) .
L.C.M. of the denominators 1, 8 and 5 is 40.

3x40 120
x40 40 28,164
B b 21482
Bx5 = 40 i 2’4’1
2x8 _ _16 2|L2,1
5x8 10 LI

(c120) 5 , (-10)

Now, @ +@m+-m
_ _12045-16

- a0

13645 _ 131

- Ta  ~ T@

2\ s B
(vi) L+ 5+
L.C.M. of the denominator 8, 16 and 4 is 16.

13x2 _ 26
8x2 16
Exl _ 5
16x1 16
ix4 4
x4 10
) , 5 , 9
Now, e
2645 4
ey
3045 25
Now, 6 16
Q4.
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Answer :

(1)

8 2
Tt53

‘We need a positive denominator.
2 1 2

e

3 1 3
Now, L.C.M. of 15 and 3 is 15.
8 Bxl _ 8

15~ 1Hx1 15

15.3

2 x5 10

3 3x5 15 1.1

8 10
Now, iz + 53

&-10
15

_ 18
5

1

Li]
5

()

T 13 7
T 5%

‘We need a positive denominator.
13 i 13

5 X717 15
Now, L.C.M. of 10, 15 and 20 is 60.

7 Tx6 42

S0 T Toxe o0

_510,15.20
2234
13 _ i3x4 _ 52 P EEeE—
5 T iGwd 60 21132
27 _ 27Tx3 _ 81 _SL

20~ 20=3 60 L.1.1

42 52 , B1
Now, _+_+E
~ (42) (- 52)4(81)
e AR S R

04181
=60
—13

0

(iid)
-1+ L +4
We need a positive denominator.
T ozl T
] 1~ 9
Now, L.C.M. of 1, 9 and 12 is 36.

1 _ —1x36 _ 36

1 136 36

7 Tx4 98

9 Dxd 36

o fro] o |

11 11x3 _ 33
12~ 12x3 36

3628433
36
64433
36
31
G
5

4
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(iv)

11 5 + 2
= tE T
L.C.M. of 39, 26 and 1 is 78.

=
-
=}
*
s
I3

W™ T Hxz 13139.26
5_5d_ 1 3132
o 212
2 _ 2x7H _ 156 1.1
1L Ix78 98
2, 15 156
Now == tmt=
_ —2an
=T m
— 1
=T
v
1 3
2+_2+T
LCM.of2and4is4.
9 2x4 _ 8
1x 4
—1 _ 1x2 __ -2
2T 2x2 T 4 2124
3 _ 3x1 _ -3 —_
4 4xl 4 211.2
g, (2 3 ]
it 1 L1
_ 823
T4
_ 1
— 1
N9, 2 3
(U'&)F-FE'FT
L.C.M. of 11, 3 and 4 is 132.
9 9x12 108
T T Tixiz T 12 (211,34
2 _ 2x44 B8 2111,3.2
37 3wad 132 e
3 _ —3x33 _ 99 111,31
Lo (19392) 3[1.3.1
108 , 88 —
m T T 1.1
_ 10848809
- 132
07488 _ 119
~ T2 T i
Q5.
Answer :
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Rational Numbers
Exercise 4D

Q1
Answer :

(1) Additive inverse of 5 is -5.

(iiy Additive inverse of -9 is 9.

(i) Additive inverse of 14 14 .

: L 1 ., 11
(v) Additive inverse of —= is .

16=(—1)

(-9)=(-1)

(v) Additive inverse of 25 =
15
4

15
1

) R 18 18% (1)

(vi) Additive inverse of —= [EDFE)
18

13

18

13

(vii) Additive inverse of 0 is 0.

o 1 1x(-1)
(viii) Additive inverse of — = —( FTE)
1
= 7%
=1
6
Q2
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Answer :

(i)

% S % = é + (adl:l_itive inverse of %)
L.CM. of 3 and 4is 12.

1 3y w9 s
3+(—z)— 2 2

(i2)
% — (T.S) = % + (add_itive inverse of Ts)
1,5
=5 S|
L.C.M. of 3 and 6 is 6.
_ 2445
S
7
[
(iid)
(—53) — ?8) = @ + (add.itive inverse of TS)
3) 8
=5 *t3
.C.M. of 5 and 9 is 45.
97440
T 45
13
e
(iv)
(—11} — (—70) = (—11) + (add.itive inverse of T'J)

= = ( 1332) = % + (add.itive inverse of %)

=~

.C.M. of 5 and 13 is 65
784160
5

olm
ks
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(vi)

|>&

- TT) — 74 + (adl:l.itive inverse of T?)

u+z

7 1
CM.of Tand 1is 7.

4149
7

[ (-

<

E

| b3

i | el

+ (add.itive inverse of %)

II
o),

wlen

.M. of 3and 9is 9.

o= e
a\OuL\’

=
|~';'

)

| L]

% — T3 + (add.itive inverse of %)

[—

Iw

5 1
L.C.M. of 5and 1is 5.
3 25

it
—

|
51 5

ol

= % + (add.itive inverse of %)

.M. 4 and 5 is 20.
16
20

ol e

— e
mo I

8

—_—

ii)

=1 i

+ (add.itive inverse of %)

|l
-
Il

by "‘|w
s
Lo
e ||

-

-~l|m
en
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(1)
7T 19 7 e 19
%% 3= =+ (add.ltlve inverse of E)
z_ 19

24 36

.C.M. of 24 and 36 is 72.

38

14 13 _ 14 A 13
e — Rk (add.ltlve inverse of 20)

L.C.M. of 15 and 20 is 60.

2
S ) T3

%— (—3.2) =%+ (a.dditive inverse of TE)
L.C.M. of 3 and 9 is 0.

_ 446

~a

_ 10

7

(vi)

7 (-4)

‘We need a positive denominator.
4 (-1) _ 4
o7y 1

T 4 _ T pr - 4
T T (adlilthE inverse of o )
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—4 — Tz = — + (addltlve inverse of )
5 2
wt7
L.C.M. of 14 and 7 is 14.
514
14
1
T
(viii)

We need a positive denominator.

S 1_5
8 1~ 8 [L.C.M.of8and 4is 8]
5 3) 5 e s 3
3T =gt (add.ltlve inverse of T)
L.C.M. of 8 and 4 is 8.
__ 546
s
_1u
=8
Q4
Answer:

First we will find the sum of % and %.

T tm
L.C.M. of 11 and 22 is 22.

72449
22

23
22

Now. we have to find the sum of % and % i

ERNED)

L.C.M. of 8 and 4 is &.
_ 33-38

®|
U‘ac

8 22
3 23
=3 t%
L.C.M. of 8 and 22 is 88.
__ —B5im2
- BB

T
BE

Q5

Answer:

Let the other number that be z.

5 _ 4
FHe=5
4 5
I T
L.C.M. of 21 and 7 is 21.
4-15
==>T=r
11
==T=3
11

Hence, the required number is =i -

Q6
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Answer:

Let the other number be z.

3 =3

wtE=7%
_ —=3_3
==E =T
L.C.M. of 8 and 16 is 16.
_ _ —6-3
==y

9

=>T =5
Q7
Answer :

Let the other number be z.

15
T+$=—3
B B (—15)
=>r=-3-—
o 21415
_}z_T
=gz = =2

7
Hence, the required number is 75

Q8
Answer :

Let the required number be z.

_ 4
54—

4
=}:B=T+5
- 4415
=>I = 3
o _1n
==T=5

Hence, the requied number is % .

Q9

Answer:

Let the required number be x.

1 5
TIT=10

_ _ 5 _ (-3
=EET=5 T
_ 1049
==T= 5

_ _ 18
==T=g5

Hence, the required number is ;—3 .

Q10

Answer:

Let the number that is to be added be x.

12
T+I=3
2
=)$=3—%
_ __ 15412
_>$_T
=)$=%

Hence, the required number is 2?7 .

Q11
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Answer:

Let the number that is to be added be x.

_ =2 (-s)

L.C.M. of 3 and 7 is 21.
14415
21

_ - L
=>T =3

===

Hence, the required number is % .

Q12

Answer:

Let the number that is to be added be x.

2 —_—

— ——1-2
=>r=-1-3
_ __ 92
_}z_T
—mp— i

9

Hence, the required number is % .

Q13
Answer :
Let the required number that is to be added be .
13 3
(T + ?) +r=1
13, (-3)
=>z=1- (T + T)

L.C.M. of 4 and 8 is 8.

-1 ()
-1 ()

w

°°|8 o2

29
+ 8
+29

Il
o Ll

~ 7
37
]

Hence, the required number is 3?7 .

Q14

Answer:

Let the required number that is to be subtracted be x.

3_ g 5
2 TT%

5 (-3)
== t=5 1
L.C.M. of 6 and 4 is 12.
e g 1049
- - 12
=>-z=2

Hence, the required number is % :

Q15
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Answer:

Let the required number that is to be subtracted be x.

2 _ b
3 TT3

5 (-2

= T=% 3
L.C.M. of 6 and 3 is 6.
544

=>-—T=—"

1
== -"T=-F

===

Q1lé

Answer :

Let the required number that is to be subtracted be z.
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Rational Numbers

Exercise 4E

Q1
Answer :

()ixt-t5-3

L) AT st (a3xa)
(“) A (R
(iji).lx%thz?'x4=28

-b—l

2
i g & (-2x2) 4
(w);x7_ =

(v) We need a positive denominator.

S
(—4) x (-2)
8

TR PR (| ]

= -

i‘+ *

%

b

dk

I

[21)-N

P
1
12 4
wiii x — =12x4=48
_5—] ﬂ—]
1 5
“+% 25
IX X =1 x_s _5
+5, 2+, 3 2 6
Q2

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com
RS Aggarwal Class 7 Mathematics Solutions

Answer:
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(iv)

—13x%
+3' %17
T e
we =T,
2
(v)
=13 5 ——1--9-2
e
=26
(vi)
(), (o+)
+6, -,
4
=%
Q4
Answer :
(1)
2
(+_ . 1) i (1 " 1)
+, B - -
3 2
=gy iy
LCM. of2and 3is 6
_ 944
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(#i1)
6 22 26 10
(% X ) (E X 30 )
& 22’ 26 +6
=— x - P
-5, <, +25, 9,

:Fﬂ_Lﬂ

5 75

_ 4, 4

=5 tsw

L.C.M. of 15 and 75 is 75.

2044

==

16

=T

(iv)

( e —1—#) ( + )

x | x—

=, P +5, a6
( 1,1

- e

o e
!
=
e,
(=]
g
-
=
-
=

Q5

Answer :
Cost of 1 meter cloth =Rs 40%
Cost of,?.% meter cloth = Rs (40—; x 3%)

=Rs (2x1)

2 2
s 567
— Rs e
= Rs 141.75
Qé
Answer:

Distance covered in 1 hour = 46% km

Distance coverd in 2% hours = (46% X 2%)

+ Eiﬁ “l
= K —
& =

— (28 x 4)

=112 km
Hence, the required distance is 112 km.
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Rational Numbers
Exercise 4F

Q1

Answer:

('1) Multiplicative inverse of 18 = %
i.i) Multiplicative inverse of — 16 = l—ﬂl

1.1.1) Multiplicative inverse of % _ %

12
17

1v) Multiplicative inverse of% =

v) Multiplicative inverse of 1_5? = 1—%

v1) Multiplicative inverse of —: = —g = %

vii) Multiplicative inverse of — 1 = < = —1

viii) Multiplicative inverse of 0 = % = infinity
Hence, it does not exist.

Q2

Answer :

—_—
p—
—
ol
oo
T

-
ra|m
N

II

B X
—
@

e R|»

-
= o

|
e
L

-
e

e~
[
=

)+ ()

|
[#4]
X
-
@

—_
=
=1
—
i
ba
oe
ey
|
=
(v e]
e

o 16 T+
a5, (-18)
)
=
32
=T
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Answer:

Answer:

_ 65 , B _ 65432 97
Sum_12+3_ 1z 1z
6532 _ 33

. _ 65 _ B _
Difference = e st
97 . 33
12 12

a7 —l"2"

+2 *m
_ o
33

Q5

Answer:

Let the required number be z.
44

e 11
5 T = 3
+4" =+
—w = -
&, 4t
1
=>z=1
Qb
Answer :

Let the required number be z.

T x(1—:)=24

. —8

—o4%y (i)
_8-1

45x(-1)

Answer:

Let the other number be z.

zx —8=10
=>z =10+ (-8)
=10x %
kL
_8—4
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Answer:

Let the other number be x.
r x(—12) =-9
=>z=-0+(-12)

()
o (4)

3

%
e,
Hence, the other number is %.
Q9
Answer :

Let the other number be x.

4) _ 16
zx(3)——9

_ 4
=3
Hence, the other number is %.
Q10
Answer :

Let the required number be .

Hence, the required number is %.

Q11

Answer:

Length of the cloth required to prepare 24 trousers = 54m
Length of the cloth required for each pair of trousers—= 54 + 24

1]
4

=,
9

Hence, 2 qi m length of cloth is required for each pair of trousers.

Q12
Answer :

Length of a rope = 30 m
Number of pieces =30 + 3% =30 =+ %

=238 x 2
=8
Hence, the number of pieces would be 8.
Q13
Answer :

Cost on% m cloth = Rs 78%

Cost of cloth per meter = 78% = 2%
_ 315 . 5
=% T3
62 1
R &
A 2]
63 1
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Rational Numbers
Exercise 4G

H.C.F. of 33 and 55 is 11
3311 3

511 &5

Q2

Answer:
)+

1(]2:; 1 I‘)il
102

1?&1(]2%6

102
=

H.C.F. of 102 and 119 is 17
102 : 17 6

1917 7

The standard form of %‘;2 is Tf'

Q3
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Answer:

The correct option is (a).

The value of = is — 14.
7 ﬂ —4—2—“

[ == = _14]

+1

Q4

Answer:

The correct option is (c).
1—; should be added to Ts to get 1.
Let the required number be .

z+(§)=1

(-5) 945 14
t=1- g =" =73
Q5
Answer :

The correct option is (b).
Let the number that is to be subtracted be z.

2-e=
st (3)
== —:c=% + %
I (5x2}1l2(3x3}
=>r=—1

Hence, — i—g should be subtracted from T3 to pet % .

Q6

Answer :

The correct option is (a).
5x-1 _ -5

Gx-1 " @

L.C.M. of 6 and 12 is 12.

5x2 _ 10 Tx1 _ T
tex2 12 12x1 ~ 12

Hence, iﬁ is smaller than 1—27

Q7

Answer:

The correct option is (a).
21 2

Ix-1 " 3

L.C.M. of 3 and 5 is 15.
2x5 10 4x3 12
3x5 15 and 5x3 15

Thus, % is greater than ?“ .

Q8

Answer:
The correct option is (c).
Reciprocal of — 6 is Tl 4
Q9
Answer:

The correct option is (b).

Multiplicative inverse of Tz is T3
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Q10

Answer:

The correct option is (a).

1
—21 _6
19 19 54
=5 —6=—g"
73 1
=5 =83
Q11
Answer:

The correct option is (c).

[

6
I T
L.C.M. of 13 and 15 is 195.

6 -7

13 15
00401
T 195

L
195

Q12

Answer:

The correct option is (b).
3
—24 + 43
7 23
=3 +%
L.C.M. of 5 and 5 is 15.

Answer:

The correct option is (b).
2 _q5
=Ry

12

7

2
3
.C.M. of 3 and 7 is 21.
14— 36
21
_ m
2t

B el

= _12‘_1
Q14

Answer:

The correct option is (b).
1—25 is greater than T‘i ;
L.C.M. of 9 and 12 is 36.

5x3 __ _15
12%8 30
x4 _ 16

12x4 36

(—15) > (—16)
5

4
=779

Q15
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Answer:

The correct option is (b).
9 -
at1=-1

P R O

9 _ 1449
T

p e
2 14

Q1lé
Answer:

L.C.M. of 4, 6 and 3 is 12.
15 1448

12
2314

Q19

Answer:

()0

0+ < =0
Q20

Answer:

(d) Not defined

This is because ?3 + 0 is not defined.
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